
NCERT Solutions for Class 12th Physics
Chapter 12 – Atoms
December 3, 2016 by Anand Meena — Leave a Comment

      

 

   

HOME CBSE ICSE / ISC STATE BOARDS NCERT MOCK TESTS

STUDY MATERIAL TALENT SEARCH EXAMS & OLYMPIADS

CLASSES ENTRANCE EXAMS RESOURCES HC VERMA SOLUTIONS

fadDfadD

 E
xx

am
m.co

m 

https://schools.aglasem.com/
https://schools.aglasem.com/author/admin
https://schools.aglasem.com/3103#respond
http://schools.aglasem.com/
https://schools.aglasem.com/cbse
https://schools.aglasem.com/icse-isc
https://schools.aglasem.com/state-boards
https://schools.aglasem.com/ncert
https://schools.aglasem.com/mock-tests
https://schools.aglasem.com/study-material
https://schools.aglasem.com/talent-search-exams-olympiads
https://schools.aglasem.com/classes
https://schools.aglasem.com/entrance-exams
https://schools.aglasem.com/resources
http://schools.aglasem.com/20314


Google+ Facebook Twitter Pocket

NCERT Solutions for Class 12th Physics Chapter
12 – Atoms
National Council of Educational Research and Training (NCERT) Book Solutions for class 12th
Subject: Physics
Chapter: Chapter 12 – Atoms

Class 12th Physics Chapter 12 AtomsNCERT Solution is given below.

Question 12.1:
Choose the correct alternative from the clues given at the end of the each statement:
(a) The size of the atom in Thomson’s model is ………. the atomic size in Rutherford’s model.
(much greater than/no different from/much less than.)
(b) In the ground state of ………. electrons are in stable equilibrium, while in ………. electrons
always experience a net force. (Thomson’s model/ Rutherford’s model.)
(c) A classical atom based on ………. is doomed to collapse. (Thomson’s model/ Rutherford’s
model.)
(d) An atom has a nearly continuous mass distribution in a ………. but has a highly nonuniform
mass distribution in ………. (Thomson’s model/ Rutherford’s model.)
(e) The positively charged part of the atom possesses most of the mass in ……….
(Rutherford’s model/both the models.)
Answer
(a) The sizes of the atoms taken in Thomson’s model and Rutherford’s model have the same
order of magnitude.
(b) In the ground state of Thomson’s model, the electrons are in stable equilibrium. However,
in Rutherford’s model, the electrons always experience a net force.
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(c) A classical atom based on Rutherford’s model is doomed to collapse.
(d) An atom has a nearly continuous mass distribution in Thomson’s model, but has a highly
non-uniform mass distribution in Rutherford’s model.
(e) The positively charged part of the atom possesses most of the mass in both the models.
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